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import sys
if 'google.colab' in sys.modules:
lpip install —q dtreeviz

- Blo|E 3| AX|

0s.getcwd()

'/content'

import sys

import os

# add library module to PYTHONPATH
sys.path.append(f"{os.getcwd()}/../")

from sklearn.datasets import =
from dtreeviz.trees import =
from |Python.display import Image, display_svg, SVG

v 3|9 E2|(Regression tree)

e OIO|E Al: boston data
 url: boston house-prices dataset (regression).

model = tree.DecisionTreeRegressor (max_depth=3)
boston = load_boston()

X_train = boston.data
y_train = boston.target
model .fit(X_train, y_train)

viz = dtreeviz(model,
X_train,
y_train,
target_name='price', # this name will be displayed at the leaf node
feature_names=boston.feature_names,
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https://archive.ics.uci.edu/ml/machine-learning-databases/housing/

LItIe— DUSLUII Uudld SEL T edlessiull ,
fontname="Arial",
title_fontsize=16,

colors = {"title":"purple"}

viz

Boston data set regression
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dtreeviz(regr,
X_train,
y_train,

target_name='price', # this name will be displayed at the leaf node

feature_names=boston. feature_names,
scale=.5
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v =5 EZ|(Classification tree)



clas = tree.DecisionTreeClassifier(max_depth=2)
iris = load_iris()

X_train = iris.data
y_train = iris.target
clas.fit(X_train, y_train)

viz = dtreeviz(clas,
X_train,
y_train,
target_name='price',
fontname="Arial",
feature_names=iris.feature_names,
class_names=["setosa", "versicolor", "virginica"],
histtype= 'barstacked') # barstackes is default

Viz

/usr/local/lib/python3.7/dist-packages/numpy/core/_asarray.py:83: VisibleDeprecationWarning:
return array(a, dtype, copy=False, order=order)
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=& E2|(Classification tree)

Breast Cancer Wisconsin Dataset

model = tree.DecisionTreeClassifier(max_depth=2)
cancer = load_breast_cancer ()

X_train = cancer .data
y_train = cancer.target
model.fit(X_train, y_train)

viz = dtreeviz(model,
X_train,
y_train,
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http://archive.ics.uci.edu/ml/datasets/breast+cancer+wisconsin+%28diagnostic%29

LdryetL_lidiie— cdliicer
feature_names=cancer . feature_names,
class_names=["malignant", "benign"],
orientation='LR")

Viz

/usr/local/lib/python3.7/dist—packages/numpy/core/_asarray.py:83: VisibleDeprecationWarning:

return array(a, dtype, copy=False, order=order)
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v =5 EZ|(Classification tree)

o O|O|E Ml : digits dataset

regr = tree.DecisionTreeRegressor (max_depth=3)
diabetes = load_diabetes()
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X_train = diabetes.data
y_train = diabetes. target

ranr Fi+IV train v train)
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X = diabetes.datalnp.random.randint(0, len(diabetes.data)),:]
viz = dtreeviz(regr,

X_train,
y_train,

target_name='progres', # this name will be displayed at the leaf node

feature_names=diabetes.feature_names,

X=X,
show_node_labels = True,
scale=.7

viz
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import pandas as pd

train = pd.read_csv("'house_train.csv")
test = pd.read_csv("house_test.csv")
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e https:/www.kaggle.com/c/2019-2nd-ml-month-with-kakr/data
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https://www.kaggle.com/c/2019-2nd-ml-month-with-kakr/data
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from sklearn.preprocessing import MinMaxScaler

sel = ['saft_living', 'saft_lot', 'bedrooms'] # 'bedrooms' , 'bathrooms',
X = X_all[sel]

y = train['price']

nor_X = MinMaxScaler ().fit_transform(X) # &2 GIOI&l E A3t

print("&AR3st : ", nor_X.shape, y.shape)

# &3 OOlIe ArE
X_train, X_test, y_train, y_test = train_test_split(nor_X, v,
random_state=42)

st ¢ (15085, 3) (15035,)

mode| = RandomForestRegressor (n_estimators=100,
max_depth=3,
max_features='auto",
min_samples_leaf=4,
bootstrap=True,
n_jobs=-1,
random_state=0)

model . fit(X, y)

RandomForestRegressor (bootstrap=True, ccp_alpha=0.0, criterion='mse",
max_depth=3, max_features='auto', max_leaf_nodes=None,
max_samp les=None, min_impurity_decrease=0.0,
min_impurity_split=None, min_samples_leaf=4,
min_samples_split=2, min_weight_fraction_leaf=0.0,
n_estimators=100, n_jobs=-1, oob_score=False,
random_state=0, verbose=0, warm_start=False)



viz = dtreeviz(model.estimators_[0], X, v,
feature_names=house. feature_names,
target_name='price',
fontname="Arial",
scale=0.8,
title="1st decision tree — House data")

Viz

1st decision tree - House data
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viz.save("decision_tree_house.svg")

from google.colab import files
files.download("decision_tree_house.svg")
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 https://colab.research.google.com/github/parrt/dtreeviz/blob/master/notebooks/example
s.ipynb

» https://towardsdatascience.com/4-ways-to-visualize-individual-decision-trees-in-a-random-
forest-7a9bedald1b7
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